 Ajoute 20.
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> Calcule.

a 147+30=AFF 2106 +60 =46
b. 161+30=49 41 1.138450-48 9
129+50=479 1 143:+40=-433

o

3

d.134+60=49 4 ; 119+3OJM 9
s 85+40=425 & 85:+60-445
. 85+70=/455 1 85+50-435

) —>..,9,0 18> 9% 14 —>_.9..I.4

;“ Calcule.

£

. 197-70=42 F = 156-5040L

i 183 -30 = 453 k. 157 - 50 407

2% g’i

i

. 192 - 80 =<i..<i..2 . 179 - 60 —44 9

u fgzs_sz-oz.,ﬁ’;_.g . 128-50= F §

| ;j_ & Pour ajouter 100, j'ajoute une centaine.
@ Pour ajouter 200, 300..., 'ajoute le nombre de centaines correspondant.

ﬂ%: Ajoute 100.

b 39 -)4.3;3 94»49_9 46 .»._.4__44.6
o 72404 1 -)/iC/’ 55405
e 285428 8-40% 80480

148

(7 Ajoute 200.

o
s

359__2..3_5 51525/ ?892;19
95209 22202 6206
.35223%5 55205 505250



